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B. Pharmacy (Fourth Semester) Examination,
April-May 2019

(PCI1 Scheme)
PHARMACOLOGY-I-THEQRY (BP404T)
(Pharmacy Branch)

Time Allowed : Three hours
Maximum Marks : 75

Note : This question paper comtains three parts. A, B
and C. Part-A containg 20 MCQ's of 1 mark each.
All yuestions are compulsory in part-A. Part-8

contains 3 long answer questions from part-B.

Part-C comtains 9 short answer guestions each of

5 marks. Attempt any 7 ouwt of 9 guestions Sirom
part-C.

Part-A 20x1=20

. Multiple choice questions (MCQs). (Attempt all the
questions) :

J41454(41) IO

http://www.csvtuonline.com

WO aUTUONIASD AN/ [ l'.hll,[

U.I'DJ'QU‘[[LID]'[L»“.SJ'g"t\a"i‘l..-‘\f‘sf-"l.-"ll'.hll,[

(ii)

(iif)

(iv)

http://www.csvtuonline.com
[ 2]

swhat does the drug do to the body™ ihyy

called as :

(a) Pharmacokinetic
(b) Pharmacodynamics
(¢) Ildiosyncracy

(d) Teratogenicity

Pharmacokinetic is the study of :

(a) Body response for the drug taken
(b) Drug action on the body

(c) Both of them

(d) None of them

Penicillin was discovered by :
(a) Alexander Fleming

(b) Subba Rug

(¢) DH Bum

(d) Sclman A Walksman

A drug which shoul

d be ayaj
: . ai
and sufficien, Quaniy able aq

.. low price
YIS calleg -

(a) Essenjg) drugs
(h:' Ol‘phﬁn dmgs
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(v)

(vi)

(vii)
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(c) Buffer drugs
(d) All of the above

An agent which proceeed the drug action is

. called :

(a) Agonist
(b) Antogonist
(c) Inverse agonist

(d) None of the above

How many extracellular loops are present in G-

protein :
(a) 01
(b) 02
{c) 03
(d) 4

The therapeutic index is the ratio of :
(a) LD50 and ED50

(b) EDSO and LD50

(¢) Both

(d) None of the above
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(ix)
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(xi)
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Com antacid whig,

plex formation of ii_'on and
affect absorption is an example of :

(a) Pharmacokinetic interaction
(b) Pharmacodynamics interaction
(c) Adverse drug reaction

(d) Side effect

A chemical which carries nerve impulse is called :
(a) Neurotransmitter

(b) Pheromones

(¢) Hormones

(d) None of the above

Which of the

followj : .
Ing is not in
neurohumoral a step

transmissiop, .
(a) Impulse conduction

(b) Transmiter release

Muscaripjc receptors gre
(a) Atropine
{b] Mumﬁmc d““gs
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(xiv)
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(c) Both
(d) None of the above (xv)

Which of the following drugs can be used in the

treatment of glaucoma :

(a) Timolol http://www.csviuonline.com

(b) Brimonidine

(c) Dorzolamide (xvi)

(d) All of the above

Lidocaine is generally an example of :
(a) General anaesthetic

(b) Local anaesthetic

(c) CNS stimulant (xvi)
(d) CNS depressant
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Which stage of anaesthesia is considered as a
surgical stage :

(a) Stage !

(b) Stage 2

(c) Stage 3

(d) Stage 4

(xviii)
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Disulfiram is used in the treatment of :

(a) Alocohol addiction "

(b) Analgesic
(¢) Anti-neoplastic drugs

(d) As an antimicrobial drug r

Which of the following statement is true :

(a) Sedative cause sleep

(b) Hypnotics cause sleep

(c) Both cause sleep

(d) None of the above

Valproic acid is an example of :
(a) Antiepileptic drugs
(b) Anti-parkisonson drugs

() A drug used in glancoma
(d) All of the aboye

Parkinson s g result

. of an imbalance between -
(a) Acetylcholine and dopamin
| e
(b) Histamine and Serotonin
(c) Dopamine ang histamine

(d) MAO-A ang Dopamine
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(xix)  Which of the following is an opioid antogonist :
(a) Naloxone
(b) Naltrexone
(c) Nalmefene

(d) All of the above

(xx) A condition in which the previous dose does not

give satisfactory responsc is called :
(a) Tolerance

(b) Addiction

(c) Dependence

(d) Abuse of drug

P'ar-t-B

Long Answer Type Questions (Answer any 2 out
of 3)

+ Classify anaesthetic and explain the mechanism of action

lidocainc.
Explain various type of receptors and explain G-protein

couplled receptor in detail.

Explain the route of drug administration. Classify various
route of drug administration with their respective

advantages and disadvantages.
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10.

11.

12.
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- part-C

t Answer Type Qucstions (Answer any 7 g
Shor

of 9)

Write short notes of scdative and hyponotics with an

example.

What arc agonist, antogonist and inverse agonist?

What do you understand by metabolism? Explain its

phases in short.
Explain the essential drug concept with examples.
Define drug abuse and addiction with suitable examples.

Classify anti-Parkinson drugs and explain the mechanism
of action levopoda.

Explain tolerance and dependence.

Explain drug discove : :
ry Phases W]th 5 .
i - ’ ec
clinical trials. pecial reference to
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